2000 = =0l & 2 BHa A

ECENEE

M Xgos 2 N (LI /YEI A 22)

A

©e: Ao oJdEs XA (&2 &)
5 o SIEN
2N -3 - c2(3H) - NEME - HES 0] AFCH loﬂ/l\_Fo” Hns
O3 AR =2 2,345,323 2,258,795 86,528
Xgolgl 29 XS (Ler22 ™ /AL HH2H2]) 2,118,720 2,032,806 85,914
gog odgs XA 2,118,720 2,032,806 85,914
o dgs g8 239,500 173,980 65,520
201 LE29H| 225,900 170,380 55,520
01 AR 22|l 215,580 163, 180 52,400
O1.g 82| 210,180
-Xgolg Hrd & 2HAR HIHE
30,0002 * 1505 4,500
=938 HM& 1,400& *20,000F *43| 112,000
-2|3|8 M&E JNZ 320,000& *43| 1,280
-O|g| ot XA (B2, H2)
10,0002 *7005 7,000
-O|3| 2 HE HIt HE 5,000& 5005 2,500
-3 =S M& 33,600
RSk Rl pel = 40,000& xB0E *23| 6,400
cAANSBS= 30,000& *80F 83| 19,200
TP AIRZAN L A=
50,000& 805 *23| 8,000
-HZ20 A ZD4 40,000,000& 40,000
-UAEHA E2 S HH 70,000& *300H 2,100
-3|92 HIoIEHIoIA 2=
600, 000& *123] 7,200
O6.9x= 5,400
O3 Es FHMAS Xt 450,000& x12& 5,400
02 332&H| 10,320 7,200 3,120
O1.2Z222YHA 3,120
-BelEE NIl 50,000& =20« 12& 1,200
-B|HE oY J& MBS
50,0002 13| &« 12& 600
-ss| QISMHIA AIES
100,000& x12& *1.1 1,320
O3. Al & &H| = Xl 8l 7,200
-O|3| S HIOI K Z2IAAH SIS
600,000& x12& 7,200
202 O Hl 3,600 3,600 0




RECENEE

M Qe 29 N (YBIAF/LYLadi)
o9l Xgolsl HES X (5 &2
_ _ _ Muo
SN EB -GS - MBAY - BES arey e HRE2
01 =LHoTH 3,600 3,600 0
OF=ANZAFEHOS &40
60,0002 32§ x22 103l 3,600
207 1Ll 10,000 0 10,000
NI 10,000 0 10,000
QSIS ZEHOIX (MAOIE 7)Y
10,000, 0002! 10,000
Agst 252y X 233,856 163,356 70,500
201 L2yl 58,996 51,996 7,000
01 AFR22lt] 45,740 38,740 7,000
O1. 22| 25,800
o2 LB+ 15,000, 0002 15,000
—OlFYE BN EHH NE
25,0002 x40 1,000
~250/% JHHE HA 5,000,0002! +13] 5,000
“DeHsALY 200,000% *2 * 122 4,800
03.29+Y 840
~EEAICIS Y BRSO AR S
IR E A 70,0002 x623 x23| 840
0532 19, 100
—OlEANRE YRET Z4 5,100,000 5,100
~AIE ¥ Hellsl ORIZSX B4
7,0002%10% *1002 7,000
~YAIE o Hollsl MR 0rA2L
=N 7,0002 +102 * 1002 7,000
;2 ZZ2Y 13,256 13,256 0
O1. 2222 YLHA 3,256
o5l HERBE 25021 %3, 5000H *43] 3,500
DIEt 2322 2 HAl 9,756,000 9,756
202 Ofl 75,600 75,600 0
01 =LHolbl 29,000 29,000 0
OAFESREH 2= 0| 19,520, 0002! 19,520
OEFEAISIE! H D25 01H|
60, 00021 32 x47H 2| 21 3/ +32 %33 6,480
O FE Ot HFE A
20,0002 52 x5 63| 3,000




RECENEE

I X%ols 29 X (LHTITHY/LYLHINBL)
chel: Xwols| AnEs xd (crel: &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 BlusZ
03 =220t 39,600 39,600 0
OZHLEHA S £+ 0IH|
2,600, 00021 +3% 23| 15,600
Ooaomas+3 6ol
2,000, 0002 x42 x30H | 2 3| 24,000
04 =W 3ol 7,000 7,000 0
OANZABIART R MAZAl 29|04 04|
3,500, 00021 x2 7,000
203 YRFAY 30,000 25,000 5,000
03 AlMFFQY2EX Y| 30,000 25,000 5,000
O2zley ez 10,000,000} 10,000
O2ANEY PRETH| 12,000,0008! 12,000
O3 #A FXYLF T 8,000,000 8,000
301 YprEAS 4,160 4,160 0
08 2l8I=H 01yl 3,440 3,440 0
OHAXIOHE Al 2181 =01l 3,440
~AlH| 3,440
" =gl 50,0008 *5% 42 +23] 2,000
Cae 30,0009 *6 % *42 +23] 1,440
10 SAMHI2 42 720 720 0
OIS SEA N 24t
60,0008 2% 22U +33] 720
405 XtabE S| 65,100 6,600 58,500
01 KAYLSEFSH] 59, 100 3,600 55,500
OLES 3¢ 1,700,00021 <334 56, 100
OAMIt7 Y 1,000,0002 174 1,000
OMzHeA 25I|7 2
2,000,0002 15 2,000
02 EATI 6,000 3,000 3,000
OEM 2 20,0008 *3002 6,000
o508 o4 Y WS 30,540 30,340 200
201 Yer2y| 14,940 14,740 200
01 At222lH| 1,200 1,000 200
02,9/t D EH| 1,200
~2IANLH ST 150,0002 +82 1,200

_3_




O oRAR=

AR 2 N (dets3dE /g AN 2el)
=
f=)

L Xgolsl AFEE X @
_ _ MNuE o
M- F= - S2(3H) - MRAY - BES arey il ot o {imE=Eh
03 At2EH| 13,740 13,740 0
O3 2l 13,740
—O| R H =1 TH 7,500
TUMZ 20,000& 100 *22] 4,000
MO\ EE = 3,500 *5000H x23! 3,500
Q@A 2AY 6,240
A 200,000 & 6 »2 Al 2++23] 4,800
TOHIEH 60,000 x6H 22 x23] 1,440
202 OdHl 15,600 15,600 0
01 SLHAHbI 15,600 15,600 0
O AL=HAL =& 04|
60,0003 *30H *3 +23] 10,800
O=3 Q¥ A+=F W=FIH0H]
60,0003 x8H x5 x23] 4,800
o ¥E=sH K& 1,614,824 1,665,130 A 50,306
205 <2/3lH| 1,614,824 1,665, 130 A50,306
01 o/Z &=l 422,400 422,400 0
O2 &&=l 900,000& »32H «12& 345,600
O X &=l 200,000& 32 122 76,800
02 &4 761,472 803,712 A42,240
O&&=H 1,983,000 x32EH «12& 761,472
03 =LHAHI 46,398 46,398 0
OEtAIZ S5l Hlw At
74,0003 *10H *3 »23| x4 2| & 2] 17,760
OB=AIZAEE S YFA 0|
74,0003 *1H 22 %123 1,776
OXWEHOILE &4 0ft)
74,0003 x10E x2& »23] 2,960
0238l omoi+A DIAHAY
74,0003 x25H »3 5,550
O=ZHEX32E &0
74,0002 x10H 22 *4 3] 5,920
O=8 XYYHAOILH &H 0
74,000 x 10 »22 x23] 2,960
OASEHAL EA WY 74,0003 *32H 22 %23 9,472
04 =2l 67,700 76,700 A9,000




= A

X{ ZH -
S =

chel:

FEEPEE
Rgols 29 X (LBBTHT /YU s
S|
f=)

Aozl 2

]
o

20
B
2

O2d&Es a0l 50,000
-2 &, 2o 2,500,000& »2H 5,000
-9l 1,500,000 30 45,000
O=NuUFHAL & FA0HI 17,700,000& 17,700
05 Z3=2EE8SER=AHI 164,600 164,600 0
OodE2ESSZH| 164,600
-9l 2 4,800,000& 32 153,600
-0l M B ASE R 1,000,000& 11 11,000
06 Jl&azIELRFal 91,280 91,280 0
OEES; 2,620,000 128 31,440
OR9E 1,260,000& 122 15,120
Oagead 860,000 x4 «12& 41,280
OUZSEAHE 860,000& 43| 3,440
07 AEHEAMRES 5,800 5,800 0
OEHEAM 2= 4,000,000& 4,000
OZSAZAEHEAM 2E2 1,800,000 1,800
08 2A¥=CIHASRYS 31,200 31,200 0
O=tgd=s 23 100,000 & «26H « 122 31,200
09 E=0AHLRE=S 23,974 23,040 934
O=0ALEE RE= 60,000& x32& «12& 23,040
OLEAIQRYBEREHES
23,040,000& *4.05% 934
HY2AZHI(ASIARZ)(IIEH/IIE 226,603 225,989 614
QA2 (AZARS) 33,503 31,670 1,833
EMeIE2E 33,503 31,670 1,833
101 1A 18,243 16,710 1,533
09 RJlAHA22NHE S 18,243 16,710 1,533
O& Atztel 18,243
-Jles 29,0103 x 12 +300 8,703
-2 0= 725,250 12 x300% 2,176
-FES0H| 725,2503 18 x120% 871
- S22 x| 30,000 x1&~12& 360




EEENEE
M HHE2IHHI(ASIALR=2)(JIEH/DIEH
Chel: ol HY| (2 AR S) (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
-ts=g 40,000 x1H 123 480
PN 29,0103 x1H 17 494
=54 29,0103 »1H «52¢ 1,509
-AZ2te 2R+ 5,440 3 x 1H x22A| 24+ 128 1,437
- g Al 80,000 x1H =122 960
=JtHI 2 =] 50,0003 *1H«12& 600
-2HIta3 29,0103 »1H «3 » 123 x50% 523
-=8= 130,000 1H x13] 130
203 YRFLAY| 15,260 14,960 300
01 JI22gYRFLY| 3,300 3,000 300
OJ22HHRFAI 3,300,000& 3,300
02 AP RFEI 2,960 2,960 0
OZ At A R F &I 80,000& x37Z 2,960
04 RBEN2IYRFLAYI 9,000 9,000 0
OAMNR=(HH:25) 350,000& *12& 4,200
Oa A3 100,000 «4J1 2 & 2| x 128 4,800
JI2dHI(2SIAIR2) 193, 100 194,319 21,219
FM2EH 100,880 92,899 7,981
201 L3 100,880 92,899 7,981
01 AtE2teltl 79,451 77,097 2,354
O1. g2l 69,696
-ENEE dit+=EH| 5,460,000& 5,460
-EA2E daAEEH 7,050,000& 7,050
-2 N 1= 12,0002 * 185 +2F « 12 5,184
—SAEX 7Y 10,722
° Al 18,7003 308t A %12 6,732
° A3 20,0003 x5 A =12 1,200
* B4 29,5003 58 Ax12& 1,770
°B5 17,0002 52 A =12 1,020
-HEcaAE KA 1,000, 000& 1,000
- Es JIEEEEAN 19,080




SN OEARS
HE: YHSYPUI(ABAR D) (OIEH/IIE)
EPEEICERES) ELRE
SNBSS NRAY - B2 0 &4 o e HlE2
R = 16,320
* S 300&*1,000& 122 3,600
*SY 700&+1,000& 122 8,400
*UE 9,000& *40& * 122 4,320
EEUE (= 1,000& 804 12& 960
EPNFSELDN; 60, 000 304 1,800
-OXNESYI 223 13,200
= 300,000 122 3,600
TEU 400,000& 22| 122 9,600
-DEly A3 200,000 *10CH *4 3] 8,000
O4.11 =l 1,430
R % 2R T2y
130,000 *11H *12] 1,430
O5. =&l 8,325
-RFA2E S 8,325,000& 8,325
02 22324l 21,429 15,802 5,627
O1.2E23LHA 4,608
-RFARYE 2323 4,608,000& 4,608
O4.Xtgtd et 16,821
-2|HE 4,621,000 *1CH 4,621
R Eat= 4,621,000& 2CH 9,242
-SE(5E) 2,958,000 «1CH 2,958
HR=A 0| 79,920 79,920 0
202 Od4 79,920 79,920 0
01 SLHAHHI 79,920 79,920 0
OFRYERFA0oI 20,0003 379 x12& 79,920
At 2 =S FSHI 12,300 21,500 9,200
405 KHeHE SHI 12,300 21,500 9,200
01 L SESFHSHI 12,300 21,500 29,200
Ooz&FH ¢ 1,350,000 *5CH 6,750
OAL R (zA) 1,500,000 =14 1,500
OaI 2¢ 400,000& *9JHK 3,600




SN QA AR
B WH2AZHYI(ABIAR2)(IIEIIE)
el JI2ZHI(ASIARZ)
; 5 . rsJEL=
SN B SRA(SIH) - MBAY - BAS 04l &k 24 i
OO XEottet +< 450,000 = 1CH 450




